Rule 4 / Case 4 Quiz

KEYS
Team A or Team B is designated as A or B

Team A or Team B's 45 yard-lines, example: A-45 or B-45

Player A or B's number is 40, example: A40 or B40

Second down and 6 yards to go for A at the B 23 yard-line, example: A, 2/6, B-23
The Kicking or Receiving teams are designated as K or R

Team K or Team R's 45 yard-lines, example: K-45 or R-45

Player K or R's number is 65, example: K65 or R65

Fourth down and 12 yards to go for K at the R 45 yard-line, example: K, 4/12, R-45

1. A, 1/10, A-25. A14 runs to the A-30 and fumbles. The ball is muffed by B12 at the A-
32 and the ball rolls out of bounds at the A-36.

Mark only one oval.

A, 1/10, A-36
A, 2/5,A-30

B, 1/10, A-32
B, 1/10, A=36



End of game with the score tied 21 — 21. Team R failed to score in their 1st overtime
series. K has 3/6 at the R-10. K6 is in position to kick a field goal with K14 as the
holder at the R-17. K14 takes the snap and without rising, throws a pass to K84 who
scores.

Mark only one oval.

K touchdown. K wins, 27 — 21.

No score. Teams proceed to the next overtime series. Score: 21 — 21
No score. lllegal pass, K, 4/18, R-22

No score. K, 4/13, R-17

K, 4/7, R-30. K14 attempts a field goal that is partially blocked behind the line by R42
and recovered by K91 at the R-26 yard line. K91 advances to the R-20.

Mark only one oval.

K, 1/10, R-20. The ball remains live.
R, 1/10, R-26. The ball is dead when K91 recovered it.

A, 2/6, B-14. A42 is running up the middle when B66 attempts to tackle A42 at the B-
10. During the attempt, B66’s helmet pops off and A42 breaks free and scores a
touchdown.

Mark only one oval.

Touchdown for A. A try at B-3
Play is stopped for the helmet coming off. A, 3/2, B-10
Penalize A for knocking B’s helmet off. A, 2/17, B-25



K, 4/10, K-23. K leads 21-20 with less than 2 minutes remaining in the game. K8’s
punt is very short and R23 signals for and makes a fair catch at the K-40. A chooses
to snap from the right hash. During the next play, B12 interferes with A88’s attempt to
catch a pass and B15 intercepts the ball at the B-28.

Mark only one oval.

A, 1/10, B-25. A must snap from the right hash
B, 1/10, B-28

A, 1/10, B-25. A can choose to have the ball placed in the middle for a free kick to
possibly score a field goal.

A, 3/6, B-12. A14 throws a forward pass to A82. B26 steps in front of A82 and
intercepts the pass at the B-3. As he is running toward the sideline, he is hit and
fumbles. The ball hits the goal line pylon.

Mark only one oval.

B,1/10,B-3

Touchback, B, 1/10, B-20
Incomplete pass. A, 4/6, B-12
Safety. B, Free kick, B-20
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